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BUPA3Y 31 3MIHHOK

\Z
Cknadu i ob4uc/u supasu 3a 0aHUMU mabsuyi. Cknadu i obyuc/iu BUpasu 3a 0aHuUMu ma6nutf
at+tbfla-bla:b atb|la-bjla:b
a =2000 a=4200
b=20 b = 600
a =360 a =540
b =90 b =90
a =56 000 a =81 000
b =700 b =900
a=2700 a =64 000
b =300 b =8 000
a =70000 a =25000
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BUPA3Y 31 3MIHHOK

\Z
Cknadu i ob4uc/u supasu 3a 0aHUMU mabsuyi. Cknadu i obyuc/iu Bupasu 3a 0aHuUMu ma6nutf
at+tbfla-bla:b atb|la-bjla:b

a =300 a =450

b =50 b =90
a=1400 a=7200

b =700 b =900
a =49 000 a =63 000

b=70 b =7 000
a =18 000 a =640

b = 600 b =80
a =40 000 a=2500




